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NEW QUESTION 32

Which statement is true regarding the effect of context pinning on routing?

* If theinput includes an implicit invocation for a skill, the router pins the conversation to that skill.

* |f the user is pinned to a skill and then enters something that doesn& #8217;t relate to that skill, the router automatically checks
other skillsfor a match.

* The thresholds that determine whether context pinning will occur or not set at the skill level.

* For user input that includes an explicit invocation for a skill, but not intent-related utterance, the router pins the conversation to
the skill. The next utterance, the router pins the conversation to the skill. The next utterance is assumed to be related to that skill.

NEW QUESTION 33

In avalidation loop, users are repeatedly asked to enter the same information, thereby preventing them from transitioning to a
different dialoq flow state in a conversation.
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What is causing the validation loop?

* The dialog flow state uses an input component that references a nonentity type variable. The same dialog flow state is referenced
in the next transition.

* The nlpResultvariable property of the input component points to & #8220;iResult& #8221;, which is a variable of type

&#8220;nl presuit& #8221;.
* The keepTurn property of the input component is set to true and the maxPrompts property is set to a value greater than 0.
* The input component associated with a state references a variable of an entity type and the maxPrompts property is not set.

NEW QUESTION 34

Consider the followingexcerptfromadial ogflowcode wheresizeis a context variableof valuelist entitytype
PizzaSizewithvaluesSmall,Medium,andL arge:

context
variables:
size: "PizzaSize"
iResult: "nlpresult®

intent
component: "System.Intent" m
properties: 0
variable: ™ :LR&Suqﬁa
transiti p
t@ﬁﬂlzza "getPizzaSize"
( \ ancelPizra: "cancelOrder™
unresolvedIntent: "unresolved”

getpizzasize:

component: "System.List"

properties:
prompt: "What size of pizza®
variable: "size"
nipResultVariable: "iResult™
options: "$({size.value.enumValues}"
transitions:

naxt: "placeOrder™

Which two events will occurwhen a user starts a new conversation with the sentence & #8220;Order a Large Pizza& #8221;?
* The nlpResultVariable property is not supported by System.List, so no entity extraction will occur.

* The Dialog Engine will transition to the PlaceOrder state.

* The sizevariable has no value before getPizzaSize is called, so the user will be prompted to select from the list of values.
* The nlpResultVariable will populate the size value with Large.

NEW QUESTION 35

Y ou have gone through a number of testing iterations of yourcustomer& #8217;s skill that comprises 10 intents. But you find that
generaly the best you can get is a confidence score of 96%, even when the user phrase is identical to one of your training utterances.

What should you recommend to your customer regarding thisintent confidence score?

* Keep iterating on user testing and add more training utterances until you can achieve a confidence level of 100% on your user
input.

* For every verb in your training utterances, ensure you add a version of the utterance whichalso covers the past, present, and future
tense of the verb.

* |t isnot always possible to achieve 100% confidence and adding more utterances may not help the problem. Therefore, do not
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make further changes to the skill if it is performing to yourexpectations.

* The highest possible confidence with 10 intentsis 10% (100% divided by the number of intents). So, no further changes to the
skill are required.

* Add more utterances to the unresol vedintent.

NEW QUESTION 36

Which is NOT used to tune routing behavior?

* the classifier&#8217;s F1-score

* the built-in systemintent confidence threshold
* the confidence win margin

* candidate skills&#8217; confidence thresholds

NEW QUESTION 37

What statement correctly describes the Authentication Serviceion Oracle Digital Assistant?

* The Authentication Service authenticatesusers to Oracle Identity Cloud Service. It provides customizable login screens that are
displayed in the context of a user-bot conversation.

* The Authentication Service holds the identity provider configuration that is used at run timein Oracle Digital Assistant to retrieve
an access token that authorizes REST service cals.

* The Authentication Service authenticates Oracle Digital Assistant usersto a social mediaidentity provider (for example,
Facebook) and associates social media accounts with accounts stored in the Oracle Identity Cloud Service.

* The Authentication Service alows bot designers to configure a custom webhook to authenticate and authorize users using the
System.OauthA ccountLink component.

NEW QUESTION 38

Which variable typeis automatically set with values from the chat client,such aslocate and timezoneoffset?
* System variables

* Variablesthat are defined in the context section in the dialog flow

* User variables

* System.config variables

* Profile variables

NEW QUESTION 39

An input component references an entity-type variable from its variable property and does not have the maxPrompts property set.
Which two statements describe valid options to help users deal with validation errors?

* You can use the alternatePrompt property for user input components to display alternative prompts.

* You can use the onlnvaliduserInput property on the System.commonResponse component to conditionally show or hide Ul
controls.

* You can use the system. invaliduserinput?booiean expression to detect a previously failed input validation and display alternative
prompts or additional Ul controls.

* You can use the user input component& #8217;s textReceived action transition to detect validation errors and to navigate to a state
in the dialog flow.

* You can use the user input component& #8217;s cancel action transition to navigate to a different state in the dialog flow, display
a help message to the user, and navigate back into the dialog flow state that previously failed input validation.

NEW QUESTION 40
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Take alook at the output of a system.List component in the screenshot below, and note how one of the items includes acomma(,).

In the code below,what value would you assign to the option property for it to display itemsfor & #8221;Y es& #8221;, No
please& #8221;, and &#8221;Not sure& #8221;?

${emailReceive.value}"

transitions:
return: “done"

* options: [&#8220;Y es& #8221;,& #8221;No, please resend& #8221;,& #8221;Not sure& #8221;]

* options: &#8220;Y es, Nou002C please resend. Not sure& #3221

* options: Yes, Nou002C pleaseresend, Not sure

* options: &#8220;&#8216;Y es& #8217;, & #8216;No, please resend& #8217;, & #8216;Not sure'& #8221;
* options: [[Yes]. please resend]. [Not sure]]

NEW QUESTION 41

Select the FAL SE statement regarding confidence levels when routing within a digital assistant.

* A confidence threshold is a value that& #8217;s compared to the confidence level by the system, intent component to define the
next action.

* Confidence level isthe intent engine& #8217;s score for utterance classification.

* All skillswithin adigital assistant must have the same confidence threshold.

* |If other intents that exceed the confidencethreshold have scores that are within that of the top intent by less than the win margin,
these intents are also presented to the user.

NEW QUESTION 42

Which three statements are true about composite bag entities?

* They define a business domain object as a collection of related system entities and custom entities.

* When you add entities to the composite bag, you can control how they get extracted in related to other entities and when they are
prompted for.

* The composite bag will always enforce that every entity has a valid value before allowing the conversation to move on to the next
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state in the dialog flow.
* You need to create a separate composite bag to handle nonentity types such as strings. L ocations, andattachments.
* The composite bag can resolve al entity values using only asingle state in the dialog flow.

NEW QUESTION 43
Considerthis codesnippet:

webview:

component: "System,Webview®"

properties: (:(ﬁ‘\
sourceVariable 'qgﬁ)ﬁégg%iﬂame, amount™
vari %ﬁﬁ@iﬁﬁputfromﬂeb“
prompt: "Tap the link to file your dispute.”
service: "DisputeFormService™

transitions:

n

next: "output

Whichtwostatementsaboutthis codearetrue?
* Thesystem.webviewcomponent acts a gateway to

awebappbynamingtheWebviewservice,i.e., DisputeFormService,inthecodesni ppet.

*|f thewebappreturnsanyval ues,theSystem.webviewcomponentwill storethemintheoutputfromwebvariable.

* This codesnippet supports only onevariableasa returnval ue fromthe webapplication.\When therearemultiplereturnval ues,they
needtobecomma-separated.Forexample:

variable:& #8221 ;outputfromwebl ,outputfromweb2M
* D.The webappreturns twoval ues and willstoretheminthefullnameandamountvariables,respectively.

NEW QUESTION 44

Y ou want the flow to navigate to the cancel transition immediately after the maximum number of failed attempts are exceeded in the
System.ResolveEntities Components.

Which option must you use?

* Set cancel Policy to &#8220;immediate& #8221;.
* Thereis no such option in system.ResolveEntitis
* Set cancel Policy to & #38220;true& #8221; .

* Set cancel Policy to&#8221;lastEntity& #8221, .
Explanation

https://docs.oracle.com/en/cloud/paas/digital-assi stant/use-chatbot/built-components-properti es-transitions-and-u cancel Policy
Determines the timing of the cancel transition:

* immediate-lmmediately after the allotted maxPrompts attempts have been met for an entity in the bag.
* |astEntity-When the last entity in the bag has been matched with avalue.

NEW QUESTION 45
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As per Oracle& #8217;s recommendation,which is the best practice regarding conversational design?

* Ask users open-ended questions such as &#8220;how can | help you?& #8221,

* To account for possible mistakes, make it clear to users that the bot is still learning.

* Use quick reply buttons (as opposed to natural language inputs) as much as possible.

* Ensure that capabilities of the bot f the things that it can and can& #8217;t do& #8221;) are clear and discoverable.

NEW QUESTION 46

Which two statements describe what happens when a System.DatectL anguages component is used in adialog flow?

* The system.DetectL anguage component sets the profile.languageTag variable to the language code of the detected user language.
* The system. Detectl anguage component sets the autoTranslate variable to the language code of the detected user language.

* A system.DetectL anguage component state causes an exception if no translation service is configured for a skill.

* The system.DetectL anguage component sets the profile.locale variable to the language code of the detected user language.

* The system.DetectL anguage component does not detect English because it is the default language.

NEW QUESTION 47

What is the purpose of the training models within Oracle Digital Assistant?

* build a complete semantic language model allowing a skill to understand 98% of user input in the trained language
* automatically crowdsource sample data towhich user input is matched

* automatically create n number of classifications where nis a parameter defined for each skill

* alow askill to classify user input to defined intents
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